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Section A:  Multiple Choice Questions (60 marks)

For each question from 1 to 30, four options are given. One of them is the most
suitable answer. fMake your choice (1, 2, 3 or 4) on the Optical Answer Sheet

1. Which one of the following does not reproduce in the same way as the
rest?

(1) tiger -
(2)  dolphin . )
{3) penguin

(4) polar bear

2. ook at the classification table below.
‘Animals
—l -
- X [ Y
lion L emu
swordtail | ostrich
whale duck-billed platypus
How are the abeve animals grouped?
X Y
(1) Live in water Live on land
(2) Feed on animals only Feed on plants only
3) Give birth to young alive Lay eggs
(4) Have hair on their bodies Have feathers on its body |
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3. Look at the two plants helow.

Rose plant Tree Fern

What are the similarifies between ilie beer plants?
Both reproduce from seeds.

Both can make their own food

Both have leaves, stems and rools

Both cannot move freely from place to placsa.

DO®P

(1) AandBonly

2) CandDonly -
(3) A.BandD cniy
(4) B,CandDonly

4. Study the diagram shown below.

¥ The ribs protect the

brain
heart
lzngs
stomach

QOowm>»

(1) Aand Boniy

{2) BandC only

(3) B, Cand D only
(4) A B CandD only
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5. The table below shows the parts of two systems in a human body.
Which part of the system is ciassified wrongly?

i Body Systems I

heart
(1) nose
(2) heart
(3) guilet -

(4) blood vessels

o)

Study the path that food takes after it enters the bady.

{4)
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7. Which ane of the following shiows the correct sequence of the life cycle of g
papaya plant?

ul seed
{1} P ruit ~a (2) e i )
flower seed fruit seadling
} % )
‘ﬁ F
seediin ; flower adult
9 aduit ~_
plant plant
{3) v fruit ~d (4) v seedling
~  seedling flower seed Y
% ) { flower
seed aduit  fruit FZ
adudt
plart plant
8. Study the following classification table.

whale ] f tuna ( turile _
mouse shark cobra
polar bear 1 guppy crocodile

Which of the following statements are correct?

A There is at least an animaf in each group that can swim.

B  Only the animals in Group X give birth to their young alive.

C  The animals are classified according to their animal groups. _
D  Animalsin Group Y and Z share at least one common characteristic.

(1) A BandD only
(2) A BandC only
(3) A, CandD only
(4) B, CandDonly
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9. Four green plants are grown in four similar pots. Each pot of plant is given
the same amount of soii. They are put under different conditions as shown
in the table below. Which one of the following plants wiil most likely survive
after wo weeks?

B T Conditions ]
Plant Air | Suniight | Water | Minerals |
A x TS P VN
g v 1 T T
Ir- C b d h g v
{_ D v ] T x
(1 A B
(2) B
3 ¢C - -
(4) D B
10. A plank had been placed on some grass for a week.
When it was lifted, the grass under the plank had tumed yeilow.
This was caused by a lack of . B
-
(1) water
(2} oxygen
(3) sunlight
{4) carbon dioxide
11, Which one of the following objects is made from imaterials that were once
alive?
() A glass jar
2) A plastic bag
(3) A metal ruler
(4)  Aleather belt
12. Which one of the following is a matter?
(1) sand
(2) shadow
3) thunder
(4) lightning
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13.  Look at the following cbjects. In what ways are the objects similar?

!
| /
!
: ,
i

scisSorsﬁ _{ thermometer | bottie of water _

They have mass.

They occupy space.

They are of the same shape.

They are made from the same material.

QOw>r

(1) A and B only
(2} A.and D only
(3) BandConly
{4) B and D cnly

14, A pupil filled a syringe with water. He covered one end of the syﬁnge with
his thumb and tried to push the plunger down as shown. However, he found
that he could not do so.

syringe -

What can he conclude from the experiment?

(1)  Water has a definite mass.
"(2) Water has a definite shape.
(3)  Water has a definite volume.
{4)  Water fills any container compietely.
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15, Which cne of the diagrams below shows what is chserved when the
container is tilted?

(1) (2)

3) B (4)

16. Don - was given a matter. To find out more about the properties of this
matter, he put 90g of this unknown matter into container X and another S0g
of this matter info container Y. He discovered that the volume of this object
was the same in both the containers. What could ithis object he?

A This object could be a solid.
This object couid be a liquid.
C  This object could be a gas.

v]

(H 8 only
(2) Conly
(3) AandBonly
4) B and C only
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o
7. An emply glass is inverted aver a eock floating in a basin of water.
Which one of the faliowing diagrams shows the possible observation?

(1) corh ()

(3) cork (4)
geelk

i8.  Study the flowchart below carefully.

No -
Start + Doces it occupy space? o D ’
Yes
h 2
Can it be compressed? | N° | pDoes it have a No C

defintie shape?

Yes
r
B

Which letter best describes sand?

Yes

{1y A

) B

3@ C

4 D
CHISCIPAIS A112GG8



19.  The screwdriver below is Mmade of two materials.
Which one of the materials is used for making Part W of the screwdriver?

(1) Glass

(2) Meial -
(3) Plastic

(4)  Rubber

20, Study the classification table below. -

~ ) 1 - Objects ‘
) e " — — N
Group A Group B Group C Group D

raincoat book key toothpick

— -

umbrella comics coins matchstick

In which group will you put a needle?

(1) Group A
(2) Group B
{3) Group C
(4} Group D
CHISCIPAISATI2003




21. Which one of the following diagrams shows the correct way of making a
magnet out of a nail?

[
\

3y @)

(1)

™
LN

22. Look at the classification table below.

Objects made from metal i -

( i
' {
i

X

Y
iron nail aturminium drink can
steel food can copper wire

- Which of the foliowing are the correct headings for X and Y?

X Y
N Objects that sink Objects that float
2 Altracted by magnets Not atiracted by magnets
{3) Good conducior of heat Poor conductor of heat
) Allow light to pass through Does not allow fight to pass
through
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23. A group of boys carred out an expanment to test the strength of
different magnets. They recorded their observations in the tabie below.

Magnels Maximum distance Number of paper clips attracted
between the paper clip '
and magnet for
altraction/cm

e A 6 3
N 56 7
C Gk 10 6
o | 10 4

Which one of the magnets is the strongest?

(1) Magnet A
(2) - MagnetB
(3) Magnet C
(4) Magnet D

24, Brian wants to see a dark shadow on the screen. Vhich one of the
following objects must he place at point C?

A Tennis ball

B Chatiboard =~ ]
C Clear plastic
E ] D Waoden plank

{1) A and B only
2) B and C only
(3) A.BandD only
{4)  Aliof the above

CHISCIPA/SA1/2008
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25. In the diagram below, the path of light is indicated by the arrows.
Choose the option that best fits A, BandC.

A

A B C

{1} Eves Object Light source

{2 Eyes Light source | - Obiject

(3) Light source Eyes Object - _
4; Object Light source Eves

26.  Altorch is shone on a tennis ball and a wooden piism as shown below,

1
E %C%% Tﬁcm T
screen 3cm é \i/ T ____J
{ennis wooden torch
ball pfism

&
-

* Which one of the following shows the shadow cast on the screen?

{1 2 (3 (4)

CHISTIP4ISA172008
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27. Nick wants to see the bail. What is the least number of mirrors he needs in
order to help him see the ball?

[T &G Nick's
j | i{ '__H__k e eye
(1) 1
@ 2
3 3
(4) 4
28. A magnet at rest will always point in a direction.

(1} south-east
(2) north-north
(3) east-west
(4) north-south

29.  The stick below is placed on the ground under the sun. It forms five
different shadows at five different timings.

I

4.30 p.m.

10.30 a.m. o
12.20 p.m. E

At about what time will shadow E be formed?

(1)  Atabout2.30 am.
(2) Atabout 11.30 am.
(3)  Atabout2.30 p.m.
{4) Atabout6.30pm.

CH!SCJPMSA‘!IZODS
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30. The 3 set-ups beiow show different ring magnets W, X, Y and Z whose like
poles are facing each other. Ali the ring magnets have the same mass.

The following statements are based on the 3 set-ups. Which one of tha
foilowing stateménts is most likely to be correct?

(1 Magnet W is stronger than magnet X.

{2) Magnet 7 is stronger than magnet Y.

(3) adagnet W is stronger than magnet Y.

{4} Not possible to tefi which magnet is the strongest.

-————£End of Section A——_

CHISCIP4/5A1/2608
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Section B: Open-Ended Questions (40 marks}

Read the fcllowing questions carefully and write vour answers in the space
provided. The maximum marks that can be awarded is shown at the end of
each question or part-question. ‘

31. Two similar rats are placed in two containers of the same size with food
and water. Container A is coverad with a lid while containzr B is covered
with wire gauze.

food B water

- {a) {n which container will the rat die first? _[1

(b}  What does this experiment show? 1]

32,  The diagram below show the muscies found in Mr Jim’s arm.

{a)- MWhatis the function of the muscles? [1}

()] FTe: TISCIE X 7n T T I :

bends his am? {1]
CHISCIPaISA1I2008
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Phoebe blew a balloon and used it to measure her lung's capacily. She
ploited a graph using the data collected.

8]
[

I———-—-—,b.
A
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! !
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{a) From the graph above, what would her lung capacity be whzsti the
balloon’s diameter is 8 cmi? 1]

{H) What wouid-the balioon’s diameter be when she has 4 fung capacify
of 3 litres? B

34 The diagrams (not drawn to scale) below show the different stages of
growth of a bean seed. They are not arranged in order.

Y, T

¥
i
)

N
|

-
[ |

!
H

i
!

PR |

]

§ .

iy — ! 3
A [ i
| 1 N
Stage A Stage B Stage C Stage D

{a)  Atwhich stage(s) of the bean plant, isfare the plant able to
make its own food? . 1]

CHISTIPAISA112008
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]
[}
Iy

{0) Arrange the stages of growth of a bean seed in the correci crder.
The first stage has been dene for you. 1

Stage _B_ > Stage - OStage - Stage

35. The diagram below shows an onion.

(@  Whatis the part labelled ‘G'? {1

" _(b) Whatwill the part ‘G’ develsp into? {1]

36. . The diagram below shows a waler hyacinth plant.

(@ Name one important funcfion of the part labelled ‘P’. (1]

(b) Complete the sentence below with suitable words. : [1]
The part labelled 'P’ of the above plant does not perform ..

the function of
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37.  The roots of a halsam; plant are washed and then immersed in test tube A
containing water. A similar test tube B is set up without a baisam plant.
The same amount of water and oil were used for both the test tubes.
The two test tubes were then placed side by side in a les! tube rack.

(K) What is the most likely observation on test fubes A and B
(q) afterafew days? . {21

(b)  Explain your answer i (a). {1}

CHISCP4ISALIZ008
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38.  lawrence wanted to find out the effect Soap E and Soap F had on
guppies. He prepared 3 sel-ups and put them at the same place
He observed the gupnies for a week. The pictures below shows two
of the set-ups.

259 of Soap & —TH—

141 of water - ! .

¥ g e Gupries

Set-up 1

25g of Soap F—}— =g o e - Guppies
- GIIE g T
140 of water ———f—.. " ' W‘%//
Set-up 2 -

(a) Which variable(s) should Lawrence keep the same to ehsure that
he has carried out a fair test? Tick [] the appropriate columgs
in the table below. . {1}

Variable Kept the same
Type of soap -
Amaunt of food
Amount of water
Number of guppies

(b} In the space provided below, draw and labei what the
control should be for this expedment. 2]

S

Control

CHISCIPAISA1/2008
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39.  Ahmad pours 2 mixiur

@ of sawdust, giass powder, sand and iron fillings
into a bowl below.

magnet

mixture

(a) Abhmad dips the magnet into the bowi. Which materi

ai{s) will
he be able to remove from the bow!?

- {1

(b) Give a reasocn for your answer in (a)” )

{1

40. Miss Goh conducted an ex

pertment as shown below. She put W near X
and discovered that the s

mall sailing boat was pushed away.

small saiiing
boat
magnet

e

Ly e

s

= bl
: Z ¥ bdsimn
> ‘ '"'_/_:__ _:‘::, S TN
X S et
watef
(@)  What could object W be? 11
(b) Why did the small sailing boat get pushed away? - 1]

{c)  What can you say about W and X? 1

CHISCIP4ISAL/2008
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41, The graphic crganiser below shows the similarities and dif

ference
between Rand S.

i R S r

\ similarities ‘l

—

Both of them have mass.

Both of them occupy space.

Both of them do not have a déﬁnite
shape.

/ difference &

rR does not have a definite volume bui S has-a definite voiumeJ T

Study the graphic organiser carefully. What can you conclude
about R and §? 21

CHISCIPaiS Ati2008
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42, Jasmine poured 59¢m® of water intc
cylinder X_

cylinder X. 10 marbles were put inio

L_—. —_—
2
-
LN RN -
X £
(with 580cm? of water) (with 50cm?® of water and 10 marbles)
(@)  Whatis the'volume of the marbles and water? [1]
(b)  Whatis the volume of 2 marble? . 11
. { . _
(c) If there were only 5 marbles in cylinder Y, where wifl the water
leve! be? {1}
CHISCIPUIS AlI2008
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43. Timothy has three substances A, B and C. He wants to classify them ints
the 3 states of matter. He puts the substances to four tests and recerds his
resutts in the table below. A tick (¥} indicates that the substance shows 3
positive result to the test.

Test A B 1’ C
1 | Does this substance have v v v
mass? i
.2 1 Does this substance have a v’ v v
-] volume?
3. | Can this substance fiow | <« v x
easily? _
4. | Can this substance be x v oI
cornpregsed? 1
(a) What do you think substance B is? - {1}
) (b}  Give a reason for your answer in (@) (1]
{c) List orie sifnilarity between substance B and C. 1]
CHISCIPAISA1/2008
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44 Litian recorded the length of the shadow cast Dy a rod. The graph below
shows the length of the shadow at different times of a day.

4

Length
of
shadow/

== cm

- ==& Tima

p.m.
{a} What is the length of the shadow at 4p.m.? {1i

{b) Wit gan you say apoly the iength-of the shadow at 12p.m. ?[11

-y
Py
[

{c) Give a reason for vaur answer in (&)

45.  Classify the foliowing objects tnder thg correct headings. {31
olywocd tissue paper spectacie lens

mirror irosted glass tracing paper

| Types of 5bjecis
Opaque ' Transparent I Transtucent

CHISCPaIS A12003




46.

(a) - Based on the experiment above, wh

A boy set up the experiment as shown below using 3 _QQ_M materials.

Card X CardY - Card Z

y is he unableto’see the light

U}

source?

{b) Apart from making a hole in Card Y, what change can he make

(

c)

to Card Y so that he can see the fight source? {1}

What can he conclude from the experiment?

(1

End of Paper

CHISCIPaI1SA1:2008
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EXAM PAPER 2008

SCHOOL : CATHOLIC€ HIGH PRIMARY SCHOOL
SUBJECT : PRIMARY 4 SCIENCE

TERM : S5A 1 -

Q1 [zl o3| oelaos o6 ] g7 o8] Q_IO Q11]Q12]1Q13{014[ Q15| Q16

3 3= 4 2 3 4 2 3 4 3 4 1 1 3 1 2

Qi181019]020] 02109221023 [ Q24 | Q25 | Q26 [ Q27 [ Q28 [ Q29 | Q30
2 2131 1ala|31 123 ala|3]|a

31)a)The rat in container A will die first.
b)The experiment shows that living things need air to survive.

32)a)The muscular system works together with the skeletal
system to enable us to move.
b)Muscle X contracts while Muscle Y relaxes.

33)a)Her lung capacity will be 2.0/
b)The balloon’s diameter will be 12cm.

34)a)Stage A&C.
* b)B>D>A>C

35)a)Bulb
b)Young plant.

Pagel
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36)a)It takes in water and minerals.
b)respiration.

37)a)The water level in A decreased while the water in B remains

the same.
b)The roots of the plant adsorbed water in A buy the layer of

oil on top of the water in B. Therefore, the water level in B
remains the same.

38)a)Amount of food b)
Amount of water , - '~'*§? - "?ﬂt_? Guppies
Number of guppies 14 { of water gﬁl,.__ ;

Set-up B~

39)a)The iron fillings.
b)The iron fillings are made of magnetic materials and will be

attracted to the magnet but sawdust, glass powder and sand are
not magnetic materials.

40)a)A magnet -
b)The magnetic force from W push the small sailing.
C)W and X are like poles.

41) Ris a gas but S is a liquid.

42)a)The volume is 80cm:.
b)The volume of a marble & 3cns.
c)The water level will be 65cms.

43)a)Substance B is a gas.
b)Gas can be compressed and it can flow easily and it has

mass and volume.
c)Both have mass and volume.
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_44)a)The length shadowris of the 35cm.
" b)Theshadow is the shortest.
c)The sun is directly above the rod.

45) Types of objects )
Opaque Transparent Translucent
Mirror spectacle lens tracing paper
Plywood tissue paper

frosted glass

46)a)Card Y does not have a hole. -

b)Change card Y into a transparent material.

c)He can conclude that opaque material does not allow light to
pass through.

—--end---
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